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1. Z FOUTOBR R BSROWEZEOH L 5 pIRER K,

R P | RPREE | HERSAR
{(a,b) | a > b} S X O
{(a,b) | a — b 2%} O O O
{(a,b) | ab IF1B%} X O X
{(a,b) | Im € Z, am = b} O X O
{(a,b) | ab =1} X O O
{(a,b) | Vab 1355} O O X
2.
X={(a,b)|a€Z, beZ, b0}
EBE,

R ={((a,b),(c,d)) | ((a,b),(c,d)) € X x X, ad = bc}
EBCE, RIBZX EOFERRICER S Z L2md,

(a,b)e X EFBE, ab=ba £V ((a,b),(a,b)) € R, &> TIHADNRLY LD,

((a,b),(c,d)) € R ET 5 & ad=bc £V cb=da 755 ((¢c,d), (a,b)) € R, > TH
RERDIR D 32D

((a,b),(c,d)) € R, ((¢,d), (e, f)) € R ET Dt ad=bec, cf =de 5

(ad)f = (be)f
b(cf)
b(de)

Y52, (cd)€X kD d4A0THEDE, af =be 232D T, ((a,b), (e, f)) € R, &>
THERARDSL D 37D,



